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Answer EIGHT questions only. Question ONE carries 16 marks but thls isnot
compulsory All other questions carry 12 marks each.
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Describe in short various stages involved in a systems life cycle. 16
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i) Whatare translators?
ii) - Write briefly about Windows Operatmg System.
iii) Narrate the common reasons for the failure of the computors
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"Explain
i) - Circuit switching
i)~ Message switching
iii) Packet switching
Make a brief comparison between LAN and WAN
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Explain the capabilities of a multiuser system.
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DOS, RAM, COBOL, CDAC, Os, LAN,
CD, BCD, LISP, SQL,  IMS,  FORTRAN

a). - Identify the following - . _
i) Instructions, ASCI character pattems and other information of
: permanent nature are built in this chip at the time of manufacture.
i) This enables sorting of cheques in a predetermined manner at the
 individual bank and clearing houses for faster and accurate

clearance of cheques. o
In this printer, the Printer head consists of acolumn of pins which
strike the ribbon when the character has to be printed.
Electronically sending and receiving messages. and files from
one computer to another through telephones/cable.
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v)  Setof programs that controls the operations of the computer. Not
only it controls the software but also the hardware devices.
vi) ‘When Data is converted into meaningful results.

Expand the following - : " % each
DOS, RAM, COBOL, CDAC, OS, LaN,

CD, BCD, LISE  SQL. IMS, FORTRAN
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Write short notes on -

a)
b)
c)

%)

Non-impact printers
Date flow Diagram
Mainframe Computers.
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1) - Two Binary numbers are given below :

10101 and 11111
Find out :- '

. 1) their Decimal equivalents and

if) their Octal equivalents

In respect of the Decimal numbers, 421 and 313
i) Find the Binary equivalents and

. ii) Find the Hexadecimal equivalents.
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In what ways Application softwares, like Word, Spreadsheet, DTP are
useful in an Insurance organisation. '
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In a selection process, a candidate has to secure a minimum of 50 marks in
English, 50 marks in Mathematics and 35 marks in Computers. In the
aggregate he/she should score atleast 150 marks to get selected.

Draw a program Flow Chart of Selected candidates with provision for.
Roli No., Name and marks scored.
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‘who, c¢d, Is, rmdir, cal, Ip, rm, mv, _
pwd, cp. o '

What is a file? Identify the commonly used terms in Data 4
representation. ' .
Mention few fields in a Deferred Annuity Policy Record of an. 3
Insurance Organisation

- For what purpose the below mentioned Unix commands areused ? 1 each
who, cd, Is, rmdir, cal, Ip, rm, mv,
pwd,  cp. :

ceeeee END -eoeee
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 Answer EIGHT questions only. Question ONE carries 16 marks but thisisnot
compulsory. All other questions carry 12 marks each. - ‘
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Wnte short notes on :-
Selection of Lives
Object of Key Man Insurance
Extra Mortahty Rate
Concept of Insurable Interest in Partnership Insurance
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What are the financial requirements to be subtmtted under key man 6eéach:
Insurance?

Key Man Insurance is effected only for the benefit of the busmess

and not the employee. Give your comments.
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a) Enumerate the broad groups of cases of Hypertensmn-Raxsed BP. 6each
b) Give three illustrations of Removable Extras.
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. Explain the foﬂowmg medlcal terms gwmg theirunderwriting stgmf' icance 3 each

Hysterectomy

Leucoderma
c)  Herpes Zoster

Pleurisy i
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Which indices are taken into account While rating the build of an 6
applicant? Explain their significance in underwriting?

" State the underwriting s1gmﬂcance of the following special Tests :- 3 each™
i) ESR -
u) Wasserman reaction

rxﬂaﬁimﬁ mmmmmévwmv (300 % 6 3i%)
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27
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a) Plan of Life Assurance is also an fmportant underwriting factor. 6 each
Elaborate. -

b) Mention six cases where qo-e)tistence of certain impairments is often
unfavourable.
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What are the various Endocrine Glands? Write their functions. 6
How proposal disclesing the followmg impairments will be dca!t 2 each
with by an underwriter?

“a) Tumours
b) Keloid
c)  Simple-colloid Goitre

. &) uﬁmam%w-maﬁaﬁm?
8 fga e e -

‘i) ASA

i) TASA

iii) SUC

iv) PGBS

v) ESR

vi) ECG

Write the six columns of the mortality table.
Expand the following ahbrevnanons -
. i) ASA
iij)  TASA
iii) SUC
iv) . PGBS
v) ESR
vi) ECG
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- The followm g information is available from the proposal and the medxcah ’
report submitted for Life Insurance.

a)
b)
c)
d)
€)
f)

g

h)

Male Life
Occupation
Plan and Term
Sum Proposed
Annual Income

Family History

Personal Condition :

i) Personal History

: Age 34 years

: -Lecturer in college.

: Endowment Assurance wuh term 25 years.
: Rs. 4 lacs. :

: Rs.4Lacs.

Previous Insurance :

Rs. 50,000 under Endowment Assurance
with term 25 years one year back.

:  Father died of coronary attack at age 53 years.

Mother living at age 63 years.

i) Overweight 38% EM.R. +30 -

i) B.P.136/90EMR. +20

iii) Wears glasses, power of glasses in each
~ eye - minus 8.

: Conjunctivitis one month back, cured.
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Mention what additional information and requirements are necessary fo
consider the proposal and give your underwriting decision, if requirements

are in order and found normal. '
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. Write short notes on :-
a) Parkinson’s Disease
b) Indigestion, Dysepsia v
- ¢) Hypotension - Low Blood Pressure.
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Answer EIGHT questions only. Question ONE carries 16 marks but this is not -,
- compulsory. All other questions carry 12 marks each.
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Write short notes on any four:-
* a) Nomination ‘
b) Experience Rating
¢) Cooling of period concept
d)  Banc-assurance
") Salary saving scheme

2. i) @a@hmwmﬁmw%?
) e e S sEfrdm e ?
- jif) R SR A R E ?

i) What is one year renewable group Term Assurance? '
ii) What is Level Premium Term Assurance?
iiij) What is Cash Accumulation Scheme?
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a)' Write short notes on Capital Liquidity Need Analysis (CLNA). 6 each
b) Whatis concept of risk? How risk management is done in insurance?
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Explain the main provisions of Indian partnership Act 1932.
- Briefly explain three alternatives available to avoid dissolution in
the event of death of any of the partners and how life i insurance (joint
‘life) can help the partnership firm. . :
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Define Life Insurance

What are the basic plans of Life Insurance? o

What are the basic inputs taken into account by the actuary while,
developmg insurance product (Plan)?
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Who is the ‘consumer’ in terms of Consumer Protection Act 19867
State consumer dispute redressal agencies and procedure adopted.
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Enumerate the complaints which can be addressed to the Insurance
Ombudsman.
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State and discuss in brief economical problems of ageing.

6 each

Which are basic plans of annuity and what are different options .

available to annuitant for choosing annuity?

T e 3 5 S el ) Ry 3 R | (5%
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State and explain 5 essential elements of an ordinary contract?
Briefly state and explain the distinguishing characteristics of life
insurance contract. : -

g ey, e i A SR el € 9
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‘Postal Life Insurance (PLI) is one of the competitive players in life-

insurance market’ explain this statement stating it's characteristics,

different plans offered, benefits under the plans and it’s competitiveness.

¥ 6 3%)

6 each
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10. Distinguish between :- :
a) Privately administered pension scheme and insured pension scheme.
b) Absolute assignment and conditional assignment. .

6each
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Answer EIGHT questlons only. Question ONE carries 16 marks but this is not
~ compulsory. All other questions carry 12 marks each. '
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. Write short notes on any four of the fol!owmg -
a) Contingent Contract.
b) A uniform civil code.
Interpleader Suit
Judicial Precedents
Workmen's Compensanon Act, 1923
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‘Section 38 of Insurance Act, 1938 provides complete code of transfer

“or assignment.” Explain this statement with reference to provisions

madé under the ‘Act.’

i) How.nomination under life insurance policy can be effected?
ii) How can it be changed?

iii) Whether nomination in faveur of minor is allowed, if so how?

iv) “Explain the rights of nominee under life insurance policy quoting
supreme court case decided on-this issue. v

e ok amafa
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% 75 o e 0% W &, dhn aAFrEE 1938 3 9w 45 F siwka
e 3 iy el 30 gu fflem |

T S A T 324-9-2002 B T e T TRA ;mm

25-6-2004 T T & & T 1 vl A g A g 5-8-2004
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"Distinguish between 'Representanon and warranty.

By applying stricter meaning to the word ‘warranty’ used in insurance

contract, the entire contract can be avoided for the breach of warranty,
regardless of the materiality of the statement. How far this is true for
life insurance contracts with special reference to provisions made
under section 45 of Insurance Act, 19387

) Mr ‘M’ Businessman took life insurance policy on 24-9-2002. He

died on 25-6-2004 due to heart attack. Death intimation to insurer
was sent on 5-8-2004. Insurer took decision of claim repudiation on

24-10-2004. State with reasons based on decided court case whether

sec. 45 of the Insurance Act, 1938 would be applicable?

6
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What is meant by disability benefit under life insurance contract"

State it's terms conditions and exclusions if any?

Explain with reasons whether double accident benefits claim would

be admissible under following cases.

i) Mr-‘L’ was convicted by court of laws for offence murder of his
wife and in execution of punishment, he was hanged.

" i) Mr.‘E’an agncultunst, committed suicide in 3% year of his life .

insurance policy due to heavy indebtness.

iii) Mrc ‘T" a daily commuter, one day while traveling on railway
foot board, died due to falling on railway line.

o (T ¥ 6 37%)
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What is reinsurance? Bring out the dlfference between Facultative 6 each
reinsurance and treaty reinsurance.

State the incentives provided under Income Tax Act, 1961 (as per

latest amendments) for investment in life insurance policies.
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Enumerate the various provisions relating to issue of life insurance
policies under married women’s Property Act, 1874.
b) When does the right of a nominee arise for a policy claim?
c) What was the ratio laid down by the supreme court in the case of
~ Sarabathi Devi V/s Usha Devi. '

mwmmﬂ |986mﬁqzﬁ%mamwawﬁm%? |
m%mmmmmw%aﬁxaﬁamm%?

Is Consumer Protection Act 1986 an effective remedy for settlemcnt of’
claim? What are the three tier system provided under the act and how
they function?
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a) What s meant by Presumption of death? Explam the legal provision 6 each '
" relating to presumption of death. :
b) Write short notes on Probate of will and succession cemﬁcate

(m%uﬁa)
@aﬂmmmwgﬁmaﬁt&@mmaﬁm :
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‘A life insurance pohcy provides certam privileges and concessions to a 4each
policy holder.” Explain this statement in respect of :-
a) Days of grace
b) Policy Loan, and
) Surrender and Paid up

N e
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10. Hﬁm’aﬁqﬁmﬁﬁaﬁq wmm%m@m 12
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10. Define ‘Contract’. What are the conditions for a vahd contract as per the 12
Indian Contract Act?

- m SR
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Answer EIGHT questions only. Question ONE carries 16 marks but-this is not
compulsory. All other questlons carry 12 marks each.
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Itis said that organizational structure must be such that it enables the
organization to achieve its objectives efficiently. Explain at least four -
ways in which the structure can affect the efﬁcxency of the organization
one way or the other. :

b) Explain the structure of the office in which you are working and
1llustrate the vahdlty of your answer in (ay above.

aﬁwﬁmmﬁmﬁmﬁm(wsomﬁ) (R ¥43%)
F). AfRER _
q) _gqaffm
M)

Write short notes (about 50 words) on the followmg -
a) Authority

b) Reinsurance
¢) Experience rating
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®) mwaﬁtmmﬁﬂﬁaw
¥) 9 3R AR (WAN and LAN) .
vr) amﬁamaﬁtarrmm

. Distinguish between -

a) Free market andGovemment regulated market. -
-b)- WANand LAN .
¢) Costcontrol and cost reduction -

. frefaRea faawi & weme awemRy - - (A5 T4 3F)
) B TR WA T H 0 SR | ' :

@) fie for e & R e § - e wen, dufafr iR,
e Frer stk gty e B |

) mmﬁmmaﬁwaﬂwmﬂ@ummmm

faﬁﬁmmiﬁm%l

."_Explain the importance of the following statements :-
Delegation is a management tool
Special chatacteristics of the life insurance business include large
volumes, long term contracts, geographlcal spread and. repetitive t1me )
triggered activities.

 Actuarial work calls fora great deal of researclvand frequent analysis
of i mtematlonal | practices.
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State which of the following statements are true and which ones are false 2 each
Give reasons :-
a)  Some insurance companies in India dre mutual companies.
b) Group insurance plans are issued only to employers.
c) A medical report forms part of the life insurance contract.
d) A policy holder can challenge the lapse of a policy on the ground that

the renewal premium notice was not received by him.
e¢) Non-forfeiture clause deals with foreclosure of a policy.
f) Bonus to with-profit policies are not governed by the Payment of

Bonus.

a@wm%mﬁaﬁwﬁ!ﬁ%mﬁaﬁmmé
T

) wmﬁaﬁﬁq@mm%mﬁa%ﬂm%MW
mﬁmé?aﬁ%ﬁwmﬁﬁﬁﬁémwﬁmﬁ%?

Discuss the comparative beneﬁts under the two systems of group
- gratuity schemes?

Are employees required to eontnbute towards the premium payable
under a group gratuity policy? If so, is there an income tax bencﬁt for
the employees?

(T ¥ 6 37)
@mmﬁmméﬁmMsomﬁaﬁm
3 Q) wifafirl § frenRm R 9r R 1 ST 25,000/-
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A-policy hblder requests that his policy for Rs. 50,000_; be split into
two policies for Rs. 25,000 each, and premium mode changed to
quarterly, with no change in term or plan, He has said that he wants to
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make one of the two new policies paid up and would like to continue
the other as the premium on it will be lower. Will this alteration be
allowed? o /
Will an insurer consider a request for removal of extra charged at
commencement, as the circumstances justifying the extra do not exist
any more? Will any new conditions be imposed?

8. %) TH Vierdt 7 wodor 50 W AT IR R 7 .
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What are the restrictions on surrendering a policy?
On receipt of the discharge form duly signed by the policy holder, a
cheque for the Surrender Value was sent to him on 16% February. He
. returned the cheque to the insurer on the 24% April with a request that
* the surrender be cancelled and that the policy may be treated as
continuing in force. He has stated that there was an urgent need for
funds in February, but the situation had changed. There is no loan on
the policy and the annual premium duie in December of the previous
year had been paid. What action will you take on this request? (Ignore
company practices in this regard) -
~ What would have been done if the policy holder had died on 20*
April and the nominee had returned the Surrender Value cheque with
the claim? ’ e ’

s R s Rl o 24 Wt 2008 & o, 5 A
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A policy holder who died on 24" February 2008 had three policies, taken

on 10® March 1999, 25* September 2004 and 3% May 2006 respectively,

all for Rs. 1 lakh each. ' ' -

a)  What claim forms would you ask for? .

b)  Would you ask for separate claim forms for the three policies?

¢) Would you make enquiries in respect of the third policy?

d) - Will the claims under the three policies be admitted at the same time
or separately? .

‘) TAET q T T ¢ ?
7% 3 e 1 v € ~- o
(i) W TRl 3l (i) T SRR & T W |

What do you undecstand by “Work simplification’?
How is it done? . '
Explain the advantages of :-
i)  Groupdynamics and
ii) - Panel interviews

RIS . 1« -, SEREN
ccmace END PR
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LIFE ASSURANCE FINANCE :
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mmwﬁ#mmlmm% 16 m?ﬁaﬁaﬁaﬁqﬁh
TR TR T 12 AT HEL

Answer EIGHT questions only. Question'ONE carries 16 marks but this is not
"~ compulsory. All other questwns carry 12 marks each.

€& @ e ke &, . A e g 31.3.2008 H i e
ﬂﬂmm@maﬂtwwmmms%mﬁamfﬁam
| & FIER TR

= (mmi)
wie  Er vid ™ Ee

E‘

Mmams . 7 50,080
Sl . S 23,200
86,408

5,007

O NSRBI

1,25.678
3,12045
1,75,090
80,900

- 171011
10,80,000 -
42,12,120 '




49,66,084

5,550

15,670
1,200

11,220

- 3445

6,41,900

25,000




3 AL -26
1. The following balances appear in the Books of ABC Life Insurance Co. 16
Ltd. as at 31.3.2008. Prepare Revenue Account and Balancesheet as per
. forms prescribed under Insurance Act 1938.

) (Rs. in Lakhs)
. Head of Account S (Debit) {Credit)
: Rs. Rs.

Advance Income Tax 50,080
Agent'sBalances 23,200
Annuities 86,408

. Annuities due and unpaid -
Bonus in cash 5,007
Claims by death v 63,460
Claims by maturity 1,08,930
Commiission to agents - 2,04,140
Commission Re-insurance ceded -
Consideration for Annuitiesgranted . = - .
Cash and Bank Balances 1,25,678
Salaries . -3,12,045
Other expenses of management 1,75,090
Furniture and Fixtures ~ 7 -B0,900

. First year Premium - 1,71,011

House Property 10,80,000 -
Investments in Approved Securities  42,12,120 -
Interest, Dividend and Rent - 7,00,700
Loans on Policies - 50,450 -
Loans on Mortgage 30,000
LifeFund -
Motor Car 1,450 So-
Outstanding Claims - Death 5,550
Qutstanding Claims Maturity 15,670 -
Outstanding Claims W/back - 1,200
Profit on sale of Assets : 11,220
Policy Deposits =~ 3.445
Renewal Premium ~ 6,41,900
Re-insurance premium ceded ‘ -
Share Capital #e 25,000 -
Sundry Debtors 7,440
Surrenders 6,507
Sundry Deposits 1,005

Total:-  66,24,460

49,66,084




4 AL -26
Following adjustments are to be considered:- (Rs. in Lakhs)

Rs.

Provide depreciationon - House Property : 54,100

- Motor Car " 140

- Furniture and Fixtures 7,040

Provide for Income Tax payable v : 65,160

Transfer for Reserve for Bad and doubtful debts 25

Interest Accrued butnotDue - o 740

Rent received in advance 122
Prepaid Rent o 58 -

3 %) e P st b R & e sl R T e
3k eER A AR @ ¥ orgen g & |

@) Yedua. 7. I T T AR 131.12.2008 %.8,364.00
3% 3 9w 1 ¥ 7w 76 A o & Preafin Rt 3 v <
% gumA faaw TR :
) 15.12:2008 7 g N A o &, 100 FF o
ii) za.|3mqﬁmah25.12.zoomammﬂmm,aﬁ-&as
w1 @ fRearn T
iii) & 3 s R T . 150 TR 9@ § 1 fog T
iv) 18.12.2008 1 TE A 1 . 1,526 % TR 9 T 7@ & T
W w9 R

Give reasons for the difference in the Balance as per Bank Statement

and the Balance as per Bank Account as per Cash Book for the same

period. . '

The Cash Book of M/s X Y Z & Co. shows Rs. 8,364.00 as the Balance

at Bank as on 31.12.08. On scrutiny of Bank Pass Book, the following

discrepancies were found. Prepare Bank Reconciliation Statement. -

i) 15.12.2008 the payment side of Cash Book was undercast by
Rs. 100

ii) A cheque for Rs. 131 issued on 25.12.08 was not taken in the
Bank Column.

iii) Depositof Rs. 150 in the Bank, was not accounted in Cash Book.

iv) On 18.12.2008, the ‘Debit Balance' of previous day of Rs. 1,526
was brought forward as 'Credit Balance' in the Cash Book.
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. Prefefer w HRe Rt ik -
i) o i 1938 W A 27 T
i) S afFm R am

i) B SRR
Write short notes on :-
i)  Section 27A of Insurance Act 1938
" ii) BudgetImplementation Advantages
iit) Valuation Surplus

(mmm)
. %) R SRR ﬁﬂﬁmmmqsﬂtmqawmﬁm

@) fcifia o = W R el fataa
FEYF i ST § 3R R
=T 3Rk wE S kel § siR SR

Name any four methods of Depreciation and explain thembrief. = 3each-

Write short note on Deferred Revenue Expenditure. ~
Distinguish between Provision and Reserve.
) Difference between Individual and Group Insurance Policies.

. Prafula el # S affeal FRa ,  (RE %2 3%)

i) . 260 TrE ¥ vRueEar gy afgd R T

i) TIEH TEIRE & B E 375m@aﬁagaﬁmmmm|

iii) . 30,000 1 W R i it viferdt & R 1.1.2000 F FHwH
e T TavES e wEeA AR 31.3.2009 @ EET

iv) STER TEE ¥, l75m%mmﬁaﬁmmm
grt 3 IR

V) SEINE | 6500031mm%mﬁ2832009aamﬁm
gl

 vi) FEENE. 6m0mma%ﬁmwmﬁta 6003111137(35

ﬁ-rqrﬂéﬁl




6
Write Journal Entries for following transactions.
i) Maturity Claims of Rs. 260 lakhs were written back.

AL 26,

"ii) Reinsurance Premium of Rs. 375 Lakhs is ceded to Lloyeds Insurance.
iii) Motor Car Insugance of Rs. 30,000 is paid for' Annual Pohcy
commencing on 1.1.2009. Pass necessary prepaid adjustment entry as

at 31.03.2009.

iv) Pass adjustment entry for wrong debit of furniture repairs of

Rs.1,75,000 to Furniture and Fixtures Account,

v) Bank has debited Rs. 1,685,000 as overdraft interest directly ons

28.03.2009.

vi) Penal Interest of Rs. 6,000 was pmd to policy holder by deducting -

. Rs. 600 towards Income Tax.

. .ﬁﬁwﬁm:—_

%) O A AR
|@) R $ YT

) e sitem
) RS e

. Explam in short :-

a)  Fundamental Accounting Assumpnons
~'b) Canons of Taxation.

¢) - Office Premium. .

d) - ,Contingent Liability.

. ) o vl f = R :
@) o vhem sk e frad § 0 s R
T) HYE H YA A A S TR

a) ' Define Audit.
b) Whatis the difference between Auditing and Accountmg"
<)  Describe the process of detection of fraud.

mm%mﬁm
) % & @ agm
u)_azmﬂarwaﬁqm

iii) @ §. IqUE

£

(m%m)'




iv) @ U
v) ST
vi) 3TR an. ot .

- 8. Write formulae for followmg Ratios with brief explanatlon of its 2each
lsngmﬁcance
‘i)  EPS Ratio
ii) Debt Service Coverage Ratio
iii) PE Ratio
iv) Quick Ratio
v) Conservation Ratio
vi) R.O.I Ratio

9. ') 3EH AP 1961 3 ury 145 T 87 ' (nﬁasamm)
4) R A ST |
%) maﬁrﬁml%laﬂmm%mmmmﬁw%m
S 1< L i 1 f S

9. i) Whatis Section 145 of Income Tax Act 19617 -
" ii) Whatis Renewal Expense Ratio?
iii) Give eight examples of Income exempt from tax under Sect. 10 of
Income Tax Act 1961

10. o IR $TORAS % PR aaee S 31.03.2009 F 8, R T
amsrﬁ@maﬁ%aa%gaﬂxgaawmszowﬁml




5,98,900

e ————

. Ec
80,000

2,000

_ 1,200

iii) YT TN A AT : .

@ie @R . 15%

- g T e W S ‘ 5%

iv) "STaeEmT ¥ WaaH 1,600 .
v) 4 30.6.2009 7 37 fear 1 '
vi) o g & sifr wwsRr S eie . 250 R T 81

). From the following Trial Balance of M/s Shah Enterprises as at 31.03.2009 =
- prepare Trading and Profit and loss Account for the year ending and Balance
. Sheet as at 31.03.2009 ' ' : ‘

" . Plant & Machinery 40,000 | Return Ouiwords
Purchases 92,000 | Sales
Land & Building 60,000 | Capital
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ASSOCIATESHIP EXAMINATION
FIRE HAZARDS OF SPECIFIC INDUSTRIES
wa:3He] . (et 37 : 100
Time: 3. Hours] [Total Marks : 100
Mmu@%mﬂﬁqwmm%mm?&awaﬁmﬂﬁ%n
it v e 12 dm H €1 -

Answer EIGHT questions only, Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each,

. Mark
) ﬁwmﬁw&nm@ﬁéaﬁmmm@ﬁﬁmﬁa y

e ST wera @ - 1 St & AW FEw

) ol el & oftr e sl ) e i

) ﬁﬁﬂﬁwmﬂ%mﬁammvﬁwmaﬁmmﬂ%
M TR

?) 'aﬁmﬁvﬁzﬁq&ﬁm@mﬁﬁﬁﬁnmﬁmaﬁhéﬁﬁ
e S o 1 - 1 86 3% vge SR

a) Continuous Solvent Extraction processes can be broadly divided into
seven stages — name those stages.

b) List out three common types of Ginning Machines.

¢) Name five types of metal cleaning processes applicable under

- Engineering Industry. .

d) “The Hydrocarbon processing complex can be divided into fi ive areas
from the fire and explosion point of view — ~— Identify the areas.

: mémwmﬁﬁm%w%ﬁwﬁﬂmmmwaﬁ 12
i ‘

State Fire/Loss prevenuon measures for wood Pulp and Baled Baggase
storage. '




2 | AG -51
(73T & 6 37F)
sgﬁ?«hﬁmﬁwhﬁmmﬁ%waﬁﬁmmﬂﬁm

S T 3 3R o - iR A ¥ A ot SR 3t
& e

Describe six ways in which fires may occur in the manufacturing 6 each
departments in Jute Mills.
Mention fire prevention measures for both indoor and outdoor storage

of finished papers.
. (% ¥ 6 3i%)
Sehfraftn  frafifen shrasl % dad § aftT Tl &1 swiE S
(frd R Fwdfhy) -
&) sigw FafE
q) TR HRT
¥) W

State the fire hazards in respect of following processes of Engineering 6 each
Industries (answer any two) : 4 ’
a) Oil Quenching

. b)  Powder Coating

" ¢) Spray Painting

) éaaasaﬁwaﬁa@ﬁ?ﬂmaﬁmaﬁmémaﬁm
FifT

) imaﬁwﬁma%mﬁmwm%”

¥) fadl et Serwerea Pt & e Rt e herd F AR a8 ol A
aﬁmaﬁh&a‘tg@a.aﬁamﬁﬁmﬁm%l

a) Examine the hazards which arise from storeyed structures housing

. textile mills.

b) What do you mean by problem of fluff in textile mills?

¢) Listouteight causes which mainly contribute to fire hazards in various
departments and godowns of a textile mill.

TRIHET MR wied & ﬁamﬁfmﬁqﬂmmé‘mmﬁw
qragial S S aRe?




o 3 AG -51
What precautions are to be taken in the Bulk tankages and Tank Farms of 12
the Hydrocarbon processing Plants. o ' .

' (% & 6 3)

Pt 4 2 g 2 3 ot i iR Qe S st v A
3) mmﬁzmmﬁm%m@mﬁmmaﬁm:
@) a3 3 For 3 S T wR @ e i

W) oot Qs fore F e SRIRIT @ S @Y At oty @
- IeE difa : ‘

Answer Any Two with examples from shop floor level : 6each
a)  Mention six major causes of fire in a solvent extraction plant,
b)  Explain the fire hazards due to construction in tea industries,
¢)  What are the fire hazards arising from chemical processing in a
textile mill? :

o) wwe- - (7% & 5 3i%)
i) I ¥ e e @ A wR

i) S Tiemt ¥ oty o Rty g '

%) T it 3 e (et Rwwghin) 2 511 8% o) o s e 2

&AM R o _

a) - Identify: . © Seah
i) The hazards associated with Static Electricity in rubber industry. )
ii) Special problems of fire in Jute Godowns.

b)~ Name four principal products obtained by distillation (i.e. refining)
of Rock Oil. S '

I 3 e e ¥ aifr i o et
Discuss the Fire Hazards in “Spreading Operation” of Rubber industries.

. e e ot e o e e g SR e 3
T :

. Enumerate the Fire hazards in Paper Machines and Risk improvement
measures, .
seeee FHIGT socan




ASSOCIATESHIP EXAMINATION
» . [FwaE: 100
Time: 3 Hours] . [Total Marks : 100
fr 31T W 36 T AR | I T F 16 stw ¥ frg e et T 1
Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

T 4 o)

[ 3) STeTeCrAER & et o Wl o Seeid g, s o ““<aer-
o Sl ¥ arer fffor @ R &
7) Pdgonte A S Rl TR WA A At
) wm%mvﬁf%mwmmm@ﬁm% |
ezl & Seohg HIAC L
2) e o s 35 i R o el e < o 3 3 g
i sl ¥ w2 €
'Mention four different groups of flammable atmospheres for which 4 each
separate specifications for “flame proof* equipments/apparatus are
prescribed. 4 .
b) List out any four signs of a well-managed factory.
¢) Name four types of extinguishers and detail the principles of their
working to extinguish fire. - '

d) Describe the four different types of fire detectors are being actuated
- in the various stages of development of fire.

| PR v R Rt : (Rl e 3R (T 4 37)
&) e P 3 fore wretE : '
%) o wifes foel
7)o i e R
3) WA TN




Write short notes on :- (any three)

a)
b)
c)
d)

Precautions for control of Fire.
Static Electricity in Industry.
Causes of Furnace Explosion-
Fire hazard of Trade waste.

(5% ¥ 6 i)

31) mmmmmmm W T ARafidrd

ol 2
m%waﬁmmﬁﬁaﬁwaﬂmmmm:m
T 97 5 Gk

Elaborate three different circumstances under which “Spontaneous - 6 each
Combustion™ may occur.

- Identify the conditions desirable for storage of coal to prevent

spontaneous combustion.

(5% % 2 37)

) mm-wammﬁW(wm% 3

i) =g ki

i) * ol

i) glaa}ﬁaq

iv) wEdst
mmm%wmmmmaﬁm%m
Fratera # Rea Sl R aor Lol w199 16 eRe 27 )

I 37 el A ltwa Sl A 5000 R e/l & - Al 3w
Haerd & AT (BRR TE) o, (9 PRy et
e 3t suRRerfar ot adan %)

Define the following terms (answer any three)
i) Vapour Degreasing

ii) Lampblack

iii) Sllent Risk

iv) LPG




3 AG -52
A regional office of an Insurance Company is having an area of 1250 6
square meters. The weight of furniture, fixtures and stationery in that

office is about 16 metric tones. If the average Calorific value of these
contents is 5000 Kcal/Kg. Calculate the fire load of that office
(Ignoring the presence of combustible parts of the building itself)

m%mwwaﬂm(ﬁm&?ﬁw%mm (e 3 4 3iF)
iy a3 T R

ii) i % it T aw Ao F yIR

i) T SRS SR 27 A Yo el S T 4

iv). mﬁr’m%‘ézﬂa;’m ;ﬁé&: T

v) R T A S e

Distinguish between (answer any three) :

i) Gas welding and Gas cutting

ii) Class ‘A" and Class 'B' types of Fire

i)y Carbon Dioxide Extinguishers and Dry Chemical Extmgunshers
iv) ‘Wet Back' and ‘Dry Back' types of ‘Economic’ boilers.

v) Organic Elements and Inorganic Elements.

ﬁﬂmméﬁﬁm@w%@mmm%mm

What control system is required for Air conditioning system for large
centrally air conditioned building?

' ‘Wﬁsﬁﬁwﬁmwm@mﬁﬁﬁmﬁﬁ"w
HiRT '

“Safety of manufac{unng units depends upon management and good house 12
keeping.” Explain.

ﬁqmﬁésmﬂémﬂﬁmaﬂﬁm . '(m%“ﬁ)
) IR H TSR

O

) 9T TR A

i




, 4
Specify the hazard associated with :
a) Coal Storage -
b) Finishing and cleaning process
¢) Animal and vegetable oils.

(A F 4 37F)
mmammmmmmaﬁm

It i quiq AR
) O IR e
i) 39 IERAGEE
iii) el wedh ot o fopar sF

Narrate the fire hazards relating to the followmg operations and the 4 each
preventive measures to be adopted in :-

i) Spray Painting Operations

ii) Heat Treatment Processes

iii) Shutting down of a furnace.

nﬁmémsm)
) mammmmaﬂm(&ﬁm%mm&

i) ST 3 g g Her

if)  FIER et A P/ Rgeret S g yomelt

iif) o TR e SR oy ey B

iv) ReR iaRks g7 S5l 1 wrarery

. Specify the hazards associated with the followmg : (answer any three) 4 each
i) Overaged installations.

it) - Coal/fuel oil firing system of bo:ler furnace,

iii) Friction occurring at moving parts and bearings.

: iv) Operation of stationary internal combustion engines.
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ASSOCIATESHIP EXAMINATION

FIRE INSURANCE UNDERWRITING
a3 ) SRR , [ 37 : 100
Time: 3 Hours] : ~ {Total Marks : 100

wmusﬁ%maﬁqummmsmﬁmzwmqﬁ%l
s vRs T 23EHE)

Answer EIGHT qhesttons only. Question ONE carries 16 marks but this is not
compulsory. A_ll other questions carry 12 marks each.

Marks
)| iy o & v & v R A ) '

L)) mm%mﬁmﬁmmmﬁﬁﬂﬂﬁml

a) What are the ultimate objectives of underwriting in fire insurance?
b) Discuss fully the various factors involved in fire insurance
underwriting.

. fta v <t ot faee
a) W
) WY e e
q) wis @ TR R '
%) mama@z%mﬁﬁﬂWm@mw%
6 SRR & BN T Y SR

.- It is a common practice in ﬁre insurance to prescribe a breakup of sum
insured on
~ a) Buildings
b) Machinery and accessories
- ¢) ‘Stock and stock in process and
d) Furniture and other contents.

Give reasons for this practice.




- ' 2 ' AG -54
3) IAHATE G JoiFT @ veEior fafa) (7% % 4 3i%)
%) HARHAR W & erld B F I BT
) iR iy = Rl 9 veife St
a) Write down the wordihé’s of Terrorisrﬁ damagé endorsement. -

b) Specify deductibles under Terrorism cover.
c) Highlight the features of Stop Loss Treaty.

i 3 & it A W 5 2 12 SR AR

Give any 12 examples of Insurable property under Fire Insurance.

, : o (rE 6 30E)
.- 3) A A e AR A s % s AR R die
UECTR S |
%) Pl o 3 e g e s e R B R
B g e I TR

8) Define “Insurable Interest”. Give the examples of persons who can 6 each
. have insurable interest. '

b) Which information is required to be incorporated ina policy toensure
its completeness?

) MEpEmIEREARE (R 6 31%)
mmmﬁmmmaﬁmmwma
T R
What are the objectives of risk inspection? ‘ 6 each

Give examples of risk improvement measures usually made in risk
inspection report. , :

s et s v a0 - g 56 )
are o e ) v vl o S R

* What are the salient features of Valued Policy? Give two examples. 6 each
Mention the terms governing the Long Term Policy. '

\
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e 4 ey w3y Aaw e R A Rrmg @ evar 12
TR S

Give an outline of the contents of a Risk Assessment Report for Industrial 12
All Risk Policy.

fpedl i W i feoafore forfa - . (73 ¥ 4 37F)
) e RO

%) g sk

¥) e it iferdt 3 il ‘e’ SeiE

%) omNE gl

Write short notes on any three:

a) = Valued policies

b) Silent risk
Excess clause under standard fire policy
Impact damage ' '

. frfiRe = A !
3) fog & &f S
%) R T A

q) X &t 3w TS

. What is the purpose of :

a) Loss of rent clause

b) Contract Price clause

¢) Designation of property clause?
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ASSOCIATESHIP EXAMINATION
CONSEQUENTIAL LOSS (FIRE) INSURANCE:

3% ) _ [T 3% : 100
Time: 3 Hours}] [Total Marks ; 100
Mmuﬁﬁ:m:ﬂm | WA I % 16 37 § Ry a v R
I avft yRw W 12 sm

Answer EIGHT questions only. Question ONE carries 16 marks but this is not

compulsory. AII other questions carry 12 marks each.
Marks
L. ﬁwﬁmm%mmmﬁaﬁqmaﬁmaﬁm 16
Ko
i o . 10,00,000
foraer o o ool vt 12,00,000

IMF AR _ o 48,00,000
T el | . 48,00,000
iy arfy 3 e el 3 18,00,000
afoRea = 1,00,000
At el 3Rt F 10,000

Work out the amount of claim payable given the followmg pamculars v
v Rs.
Sumijnsured S 10,00,000
- Netprofit & Al Standing charges - 12,00,000
Annual tumover o ' 48,00,000
Standard tunover . 48,00,000
Tumover during Indemnity Period 18,00,000
Additional Expenditure ' 1,00,000
SavinginInsured Standing Charges - 10,000




2 | ~ AG-55
(73 & 4 3f)
2. mm(m)mm%mmmaﬁmmﬁmm

& T gt

%) giegd sy

%) AU & YEe, e ad e Ritufat
®) Sftrm & awd s

. Explain the relevance of the following to arrive at the sum insuredundera 4 each
- Consequential Loss (Fire) Insurance Policy:-
a) Indemnity Period
b) Trend of business, variations & specual circumstances
c) Return of Premium Clause

T 1 AR X T SR WS, 50,00,000 F 9Rom g ()
G o 1 ST W i o S R 3 ST B e ¥
w57 ¥ AR T 98T, R W 3R . 20,00,000 fRea &d w0
g1, YA A S 12 WER 6 aw s A 12 e S i
m%mmﬁﬁummmaﬁm%ﬁmmaﬁm
¥. 20,00,000 ¢t :
anﬁﬁiumﬁaﬁuﬁrﬁmmt

Curewell Hospitals have taken a Consequential Loss (Fire) Policy for
Rs 50,00,000 on Revenue basis. The Hospital building was affected by
fire and they had to shift the Hospital to a neighboring Building for which -
they had to incur an extra expenses of Rs 20,00,000. The period of
Interruption was 12 months and the Insured have covered the Indemnity
period of 12 months. The loss of Revenue was Rs 20,00,000 during the
period of Interruption.

Calulate the loss amount payable in this case.

maﬁﬂmﬁwﬁf@ﬂ W%ﬁﬁﬂﬂvﬂﬂwﬁmm
HR

Menuon the factors taken into account to eva!uate the Intcrruptnon RlSk in
Consequential Loss insurance.




3
oGl & A A aw it A wRe e SR o

Give an outline of the four methods of insurance of wages. ‘ 12
S (A6 3F)

) wRemdt v uiferdt & Fefofiea Rl & siafa i demr R w=f

Fm@T

i) R F IRW

i) 7 B IRW

IR (i) T (if) F Sfia drmatell Z0 F AREE T IR F )

Describe the cover under the following extensions of Consequential
loss policy ' :
i) Suppliers premises
ii) Customers premises
b) What restrictions are applied by insurers under i) and ii) above?

wRordt @fy (aff9) diferd & il RfeifRe vod AR AR S 12
ierta T 87 <t == FiRw

State the scope of cover under specified suppliers Premisgé extension 12
under a Consequential Loss (Fire) Policy.

mm(aﬁa)m%amaﬁw'mémmﬁm 1
IS T SR FAF

Draft the wording of Electricity supply station -extension under a 12
Consequential loss (Fire) Policy.

T ot e il ferafored i (735 %4 31%)
&) S aw g :

) faurie wiw

§) fifafor # siat MR

?) weayl aft yEum




. Write short notes on any three :-

10.

10.

a) Fines and Penalties

b) Departmental clause

c) “Difference” basis of specification
d) Material Damage proviso

ftoredt iy dirdt A vl F Ry T IR GR’ F 8 R s &
el 1 Ieord AT | |

Mention the duties of the Insured on the happening of ‘damage’ as sét out
in the conditions of Consequential loss policy. ‘

R : 1 P
N, | ) Y-
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ASSOCIATESHIP EXAMINATION
FIRE INSURANCE CLAIMS

w3 6] [t 3fe:: 100
Time: 3 Hours] , ‘ [Total Marks : 100
Tl 31s Tl & SR | yam we ¥ 16 ot § g ar P wfi 1o
TR TRE U 12 tF H § |

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

. , Marks
L #) WA Rs R I s gy A v dn  (ReHsaE)
Tty dw e ol d T e w

® L

W
LREt]
Lo

. TF. T6.

TEHR am?
Hurnat ‘e
farsat T

5,00,000
2,00,000
4,50,000

1,50,000
Tl i 3 srer ¥ 2 daeit % i i 1 rgaA B

aﬁ%mmﬁmm

What will be the claim payable under each item of the policy?
Property. SumInsured Value at the time of loss

Building

. Machinery
Stock
EEF

- Rs,
5,00,000

-~ 2,00,000

4,50,000
1,50,000

7,50,000

4,00,000

1,00,000
50,000

i af
st ¥

Rs.

7.50,000
4,00,000
1,00,000

50,000

2,00,000
3,00,000
" 4,00,000

1,50,000
1,00,000.
50,000

10,000

®

8 each
Loss
Rs.
1,50,000 -
1,00,000
50,000
10,000




o 2

. Incase of total loss, how the loss will be apportion between 2 insurers.-
Insurer A suminsured Rs.2,00,000
Insurer B~ suminsured : - Rs.3,00,000
Value of property at the time of logs Rs.4,00,000

. (AT F 6 31%)
3) aﬁamm T 7 REe ﬁ{@ﬁﬁﬂaﬁﬂm

)
%) ¢ v = i g Y G T R T

a) State the salient features of Fire Pdlicy condition ‘Option to kéiﬁstate’ . Geach
b) Why this condition is rarely invoked in practice?

Frafiien w ¥Ry fewfirt R : C AwB4a)
) dfE g S )

¥) gl Sufy IS

W) Wz, Rr, T S dfw &0 T 5

" Writeshort notes on :-

a) Contract Price clause

b) Designation of Property Clause.

c) Omission to Insure alterations, extensions, additions.

TR e Wi e ¥ A 9ﬁqﬁmf%sﬁmqwmﬁ/g=rwm
& 4 I W AT .

Differentiate between Reinstatement value policy and condmon No9 .12
Repairs/ reinstatement at the insurer’s option. ’

' (méssm)
) mﬁaﬁmaﬁwﬁqﬁfﬁmmm% gmarmwah
k) mﬁjma@ﬁﬁwwm%‘?

a)  Fifteen conditions can be classified into three groups. Classify them. 6 each
b) Whatis the difference between conditions and warranties?




3
a7 et & afwia s  Fver o wiw . 87
" What is the Procedure for disposal of Salvage under Fire Claims?

it difert & sierfa < A e e Wil S T SRR ST
&

What are the rights available to the Insurers on getting a notice of claim
under a Fire Policy?

. @Wmmﬁﬁﬁﬂ%ﬂﬁﬁmﬁmﬁiﬁﬁ
Onee the fire has occurred what are the losses payable? |
aﬁzsﬁﬁﬁ‘ﬂéaﬁﬁ“ﬁaﬁwm;

Enumerate the contents of fire loss survey repoft. '

. iR ¥ = Wit & s g w0 feln v Pl
Iedg B '

. State the Rules on construction while ascertaining intention of the Partieé ‘
as expressed in the contract. : i

-
cacene END eeeeee
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ASSOCIATESHIP EXAMINATION
. FIRE & CONSEQUENTIAL LOSS INSURANCE
W : 3H ) ‘ [ 3w : 100
Time:3Hous] - ’ [Total Marks : 100
Mmuﬁ%mmnmmt 16 ai'ﬂi%&-‘gﬂwﬁar&ﬂﬁ% |
I aft TRE T 2w H §

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
- compulsory. All other questions carry 12 marks each.

) I TR A TR S e ‘(nﬁaashgaarxkai)

9) W R & A Y

a) Whatare the indications of good Housekeeping?

8 each
b) Whatare the features of bad Housekeeping?

2 (sre&as%sﬁaﬁ)
3) m«awmammaﬁmmWw
%) o] FEseEEl W T S

a)” Which clauses are required to be attached to Industrial All Risk Pohcy" 6 each
b) Discuss applicable deductibles.

TRomh gy o 3 st R R A el A TRE A R Im 2?12
Which types of losses are not covered under consequential ldss Insurance? 12

. Frofefen 4R R R o (emEea
&) WGl g R F AR MR

q) TS MR TS

Write short notes on following;:-

a) Dual basis of Insurance for wages
b) Alternative Basis clause
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. m(mm)mwﬁﬁa&w%whmm#mm 12
THR HA? A

. How do you arrive at the sum insured under (Gross Proﬁt) Difference

Basis specification?

. mﬁmm%m‘mmﬁmwﬁaﬂﬁm

. Describe the scope of the cover urider an Industrial All Risks Policy.

. st s A e ) s e R

- Outline the Indian Fire Reinsurance Programme.

. Fefifen W R R Rfgg . .
%) AUIE F A9 A F FROT 3 R
q) 1% IS 7o’ B @I

) v HufEEls

- Write short notes on the followings:-

a) Impact Damage due to Insured’s own vehicles.
b) Debris removal in'excess of 1%
¢) Designation of Property clause

. Ffeien v # <8 3t afd & e iR
- W,

&) oy A . 30,00,000

%) gRyd sl 12 W
¥ -3 () 1,00,00,000 -
?) =a9H 3ER F e i . 40,00,000
7) sl Hafgam . 7,00,000
V) o ol ol & o am - 30,00,000
W) [ S dmaiim | 1,20,00,000
q) At el - 1,60,00,000
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-9, Work out the claim amount in the following case: ' 12
. RS' ‘

a) Suminsured : 30,00,000
b) Indemnity Period 12 months
Tumover (Standard) S 1,00,00,000
Turnover during the intemlptiofi period 40,00,000
Increased cost of working 7,00,000
Gross Profit dusing previous Financial year 30,00,000
Turnover during the previous financial year 1,20,00,000
Annual Turnover ' 1,60,00,000

el % el e ek 35 e e R
T A A AT Sl IE BRI

Discuss the provisions for issuance of Floater-cum-Declaration Policy. 12
State the contract price insurance clause. o




ASSOCIATESHIP EXAMINATION
, CARGO LOSS PREVENTION '

T 36  [Fsm: 100
Time: 3 Hours] o _ [Total Marks : 100
TRl 1S Wit s S AT ) o s 1 3k § foreg g arframd i

. I TRT U 1237w
- Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.
: , * _ Marks
L %) ﬁﬁqmm@ﬁ@gﬁgmm@m%’? (AT H 8 3fF)
tc) m%mmwmmmma;@mﬁwm |
%mmmm%mmmmﬁmm
Rmwmd -

What are the major problems connected with containerised cargo? ~ 8 each
What possible loss control measures could be taken by the shipper

and consignee to ensure prompt and safe arrival of containers at
destination? '

PR s & it & o s it w89 (T % 6 37)
F) 37 (T, WEE a9 hes)
) W ()

What are the advanta‘ges and limitations of followin gtypesof packages: §each
a)  Drums (Steel, fibre and plastic) '
b) Sacks (textile and paper)

: (3= %6 37%)
. ﬁwmmmmﬁﬁrhe‘aiﬁmamz—zﬁaﬁaiﬁqm%ﬁﬁ:
7 MARgE R,
) TIMEPwy
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How do Port Authorities finalise out-turns in case of : 6 each
a) landed but missing packages,

b) Short fand packages?

(nﬁas%ﬁaﬁ)
%) ﬂaﬁﬁzﬂmmaﬁﬁaﬁqmwmﬁmmmﬁ?
@) “go Yoo S S aen e <% ¢ ser A ) A &I
1" T8 w9 R Rt

a) What are the basic precautions for stacking of gas cylindere ? 6 each
b) “Covered storage places are always preferable to open storage areas.”
Comment on this statement.

ORI % 6 37%)
maaﬁmmaﬁmm%mmammm
g 87
%) R & wnf @

W) HERER?

What precautionary measures can be.taken to reduce damage by :-
a) Cargo Sweat in Containers,
b) Container Sweat ?

: Wmma@a%m%ﬁwﬂ%mw#aﬁmm
- 3% 7 &7

What are the problems and solutions related to safe transportation of heavy
and/or over-dimensional consignments?

mmﬁma@mﬁwﬁ#wmﬁﬁmma@?

. What precautions should be taken when stacking Bagged Cargo?

Wﬁﬁﬁﬁmﬂﬁﬂmﬁﬁaﬁm%—mmﬁm,
A it = A &

What is the consignees' role in minimization of losses on goods dispatched
by railway?




3 | AG -61
9. frmfiifaa’ & FRT 7 - (T %2 37F)
F) 3 ey el aegell & R i areh e = vt o o 81
@) R A I TG TR BRI 1 et D i 3R g g A
A1 T & ARG Wi S R dvE @), 3a AR R
) 9 HER-AE 3 R (@A) § R & wm R @ @,
g e & o el S A o g 3 R &
u) wﬁmwmmﬁﬁawmﬁmm@am
£ TI
) Mag-ﬂﬁ?ﬁwmﬂgﬁmmaﬁmﬁm%ﬁ;maﬁ
e 1 HSROT FR Al Hiel | R I
) At Ao FAww Ay RN d, RATIRS
ford =it ¥ o o e S @)

Give reasons for the following :

a) Balepacking is not recommended for highly valued commodities.

b) Themastof afork lift should be tilted backwards when it is proceeding
with a load. Also the loaded forks should be kept as low as possible.

¢) When partitions are used in fibre-board boxes (cartons), it is desirable

to have them go full height of the box.

d) Layout of a building should-establish vertical draught.

e) Inamulti-storeyed transit shed it is advisable to store import cargo in
upper floors. .

f) Asthe angle between the legs of a shng increases, for the. same load
the tension in the legs goes on increasing.

. FreRiRen W i Rk fRee - (%63
7) o, 4. . k. 3yt ' |
- @) TEsT Srard
» . Write short notes on the following :

a) Role of TUMI
b). Documentary Frauds.




ASSOCIATESH]P EXAMINATION

, COMMERCIAL GEOGRAPHY .
w3 ) - _ - [ger e 100
Time: 3 Hours} : [Total Marks : 100

WWM%WW!WW% 16 37 § Ry e rfrard T & 1

At TRm WA 123w FE |
Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

“mmmmﬁm@awm%wﬁ Co g

"Geography is sngmﬁcant in the commercial development of a region". 16
- Discuss

“@awamm,mwmmﬁmm%w |
mmwvﬁ&maﬁn

"The-Suez Route has brought about a revolution in international trade, 12
commerce and political influence.” Examine this statement.

F) @ﬁmﬂmwmﬁ - (% & 6 37%)
W) g WA I R T 0 e 87

a) What are the attributes of a good port?
b) What are “free ports” and “free trade zones™

-me@%mﬁ%wm%ﬁﬁ?ﬂm%ﬁﬁ
TR STTRTT o Forl el G @7

What are the causes of earthquakes and volcanic eruptions? '
Which locations are most prone to these natural catastrophes?
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AR (hereer) e A BRe +0 e dwm I 12
TR & Fand - .

Briéﬂy state at least five important laws which govem mercantile practices.

mmﬁmmmwmmmmm
mﬁmmmmm%?mﬁm%wml

How are ocean currents caused, and which major ocean currents do you
consider have the greatest effect on shipping? Give reasons for your
choices. : S

_ (2T % 4 3iF)
M%#aﬁmﬁmﬁmé?ﬁqm&wm:- :
F) g 9Rt
g) WY Rt
T "Rt

What does chartering a vessel mean? Describe the attributes of :
a) - Voyage Charter

b} . Time Charter

¢) - Demise Charter.

State the geographical location, port conditions and facilities and major . 4 each
cargo handled at the following ports : ’

a) Kochi

b) Yangoon

¢). Singapore
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9. me%mmmmmw%g@ 12
wayA T §2

What is multimodal transport and what are the salient provnsnons of the
Multimodal Transportation of Goods Act?

. fefRes W @R o g -
¥) W
q) R w
M) HRE JUTIER

. Write short notes on the following :
a) Bill of Lading
b) - Bill of Exchange
c) Conference System

aeeeee END ceneee
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ASSOCIATESHIP EXAM]NATION
- . MARINE CLAUSES : : .,
g3 ] . , [ 37 : 100
Time: 3Hours] ' - [Total Marks : 100
ﬁ#fmu@%maﬁﬁaqrmmtmm?ﬁawmﬂﬁ%l
g oot v e 12 eim w1

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory All other questions carry 12 marks each.

Marks
.mmmm%mﬁmmmmosww 16

ms%mammmmwﬁ?

. Whatis the purpose and content of Instltute Classification Clause 1 8. 1997 16
"in the context of a Marine Cargo Policy? '

. PeRRmaE SR A R (b4
%) e P e Tl () WS e 1 Fea
- 8®) feag ia wie :
) e To ST FeiE
" 2. State the duration of risk under following covers i
- a) Institute Frozen Food Clauses (A) - excluding frozen meat

b) Institute Coal Clauses
c) * Institute Bulk Oil Clauses.

3. For sl T s Pl v § @ avee - | (3% ¥ 2 3i)
%) o, . 9. (ﬁ)uﬁ%maﬁﬁamﬁmw%méﬁmm
- uE e ¥ a9 & TR T AR TR ¥ S0 B 9 §
et 7 € T g o, <. . () TR F e smRa
®) K. 1. . . 20.07.1987 ¥ vea ot wierh 3 sk, 59 amaRa
SR SRR AT A @ S, mmmm&mm
mw%iﬁ&ﬁﬁmémén




. 2
) e U R 3w e 3 g SRR R el
HA T - o
%) mmmﬁﬁﬁ-ml.l.ww%mmﬁamm
A@wﬁhmﬂ@méﬂmmé,ﬁwm@vﬁmm%
v 3 7 il ), T R e € 8 e 21
) g @ T ¥ wa W uRed F sivi T 3 R, @
ST 5 T e R A & o saRa Sniia g 21 & uink
ayafty % A g o - |
5) o, . &, T 1.10.83 F Vieqee g i it A R A
ggﬁmmwm%mmm%gﬂmmm
| .

State, with reasons, whether the following are true or false :
a) A cargocovered under ICC(B) terms was on deck during sea voyage.
Due to rolling and pitching of carrying ship in heavy weather, the
" cargo was lost overboard. This is covered under the ICC(B) policy..
b) Under aPolicy issued subject to LEV.C. dt. 20.7.1987 an Insurer is
liable for cost of wages and maintenance of crew members whilst
the vessel is undergoing repairs arising from damages covered.
c) Extrachargesare recoverable by Assured as part of a claim for Total
d) When a container covered under Inst. Container Clauses- Time-
1.1.1987 is sold or hired to a party not named as a co-assured, the
insurance on the container terminates automatically. '

To receive claim under a Policy issued subject to ICC'A’, an insured -

has only to show that the Cargo covered was lost or damaged during
currency of the Policy. i
The Pollution Hazard Clause of ITC Hulls 1.10.1983 indemnifies an
Assured for Pollution damages caused following an oil spillage from
an'insured Vessel. .

. mmmmmﬁmmmms%mm
G e T 1 IewE H o -

' Write the Perils covered and Exclusions undes the Institute War and Strikes
Clauses- Hulls Time dt. 1.10.1983.

AG -63

12

12
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ey T il € 1.10.1983 A erm S e A v 12
1 R B At § R el 3 7w o S Rvede @ ang

HH A T 8 |

State the terms of Three-fourths Collision Liability Clause of Institute 12
Time Clauses - Hulls, 1.10.83. What liabilities have underwriters

specifically excluded from the scope of this Clause?.

A : , (7% ¥ 6 3im) |

. ®) SPEERE o S il s el S YA A ) :

) SR T () aon 3 e & e o il ) wwife
] ,

a) What are the provisions of 'the'Adjustmcnt Clause in Institute Bulk 6 each
Oil Clauses. - :

b) Outline the othér main differences between these Clauses and Institute
Cargo Clauses (B). ' :

®) St A, W T 1.10.1983 i weM-d ) v 9 O % 6 3f)
|) ‘ﬁﬁ-ﬁ'm%mﬁ%ﬁhwmﬁﬁmﬂ%&ﬁw
I 8?2 '

a) What are the terms of the “Deductible” Clause of ITC-Hulls 6 each
1.10.1983?

b) How is heavy weather damage to be treated under the provisions of
the Deductible Clause? '

Wedmenat: (% % 6 37%)
) . WA T S A B e w0 F R o ok o

T ¥ R SR et AR '

9 RFqwE Sy

. Briefly explain : ' . 6each

a) The warranties more commonly used when the intention is to limit
~ the scope under ICC “A" ‘

b) Provisions of Pickings Clause.
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ASSOCIATESHIP EXAMINATION
" MARINE INSURANCE CLAIMS .
wug:3€e} ' S [@et 3 < 100
Time: 3 Hours] ' [Total Marks : 100
WWW%WW|WW%16W§MWM=@%|
o el v v 12 3R H €

Answer EIGHT questions only. Question ONE carries 16 marks but this is not

compulsory All other questions carry 12 marks each.
Marks
ﬁqﬁmwﬂmm%:ﬁwwﬁﬂmaﬁ - (S 43R)

F) Y 3iE AR IR
g) SR &Y
) sifaRad JUR
H) e IR

Explain the purposes and functions of followmg charges and expenses - 4 each
a) Sue and Labour Charges
b) Forwarding expenses
¢) ExtraCharges
d) Salvage Charges
' ' (m% 4 35%)
. ) @qﬂﬁmmﬁl@t%maﬁ%aﬁﬁ T 1 AR W feopft
|
q) mhﬁﬁmma@ﬁnﬁﬁmwm‘w%?
) e d affam 1963 % @ve 55(2)ﬁ&€xgrﬁﬁa?raafaﬁw§%
R s A e & 3 e e €7

Comment on the “onus of proot” of loss under a policy of marine 4each
insurance. :

What is the effect of breach of wan'anty on underwriters’ liability?

Section 55(2) of Marine Insurance Act, 1963 enumerates losses whlch

are not payable. What are these losses" :
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ERI L R Ty S — oS 3 30)
) T & 0 T Y e i 3 Rl ke e 2w

o o R & e e W omaRa ARy
) ¥R TR il () W e A f raRa el §,
A 861 ¥ geer e < 5 o Fowe o g T R sl
.} W@M#wﬁﬁaﬁwmﬁﬂﬁmwmﬁ
¢ .. 3L 3o Qe TR I 27 76 @ 3R 2 39 e
- 9) e gty 3 R St Sl Y i af e A wiRrd oy
dR@ WA TmatrdST - 0

Giving reasons, state whether the following statements are true or false: 3each
a) In-serving notice on the Railways for gbodsmissin'g during transit,

- the claim bill should be based on invoice value of the consignment. -
Institute Strikes Clauses (Cargo) cover also any loss/damage to goods
resulting from loss of or frustration of voyage due to strikes and riots
inthe port area. '

Sue and Labour Charges incurred to prevent or minimise a loss to
cargo by insured perils are not payable if such measures prove to be
unsuccessful. : g ) -
Underwriters shall not be liable for unrepaired damage in the event
of subsequent total loss of the vessel during the policy period. .

: | R 63)
- Tt el shome e SR 3 e b el 3 v et oy
I
|) ﬁ%mﬁmﬁ&aﬁmﬁnﬂwﬁ%mwmﬁ -

a) Describe the Cargo claims procedure when goods are landed at an 6 each
intermediate port. . S o

b) What is the procedure involved in respect of marine claims payable
abroad? ‘

S R 8 R WRReR o Y ey TR WA 12
Fmd? : ‘
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5. What is “Salvage Loss”? In what circumstances is it customary to settle -~ 12
claims on a “Salvage Loss” basis?

m&a?‘q’m‘ﬁ’éﬁzagﬂﬁmﬁa(q)%mﬂm%lﬁmma ‘
el Q el 3t 33 ¥ Rl T 7 oo A A

- 203 arnh & T dr gl ¥ e €. 30,000

- 10 Tk A S w e de e €. 10,000

- s.48,m0aﬁ§amﬁauﬁr%mw§.zﬁ.\m.(q)%sasama%nl
Hﬁﬁmﬁﬂﬁmﬁﬁﬁﬂmm%:- ' '

178 “C’ [ AR .

2 3“0 o g i e S e g e o St I AL
36 50 F &4 &, 200 R

Sfﬂé“q’fa%amﬁ@ﬁrﬁﬁn{.lgawia& 1,600 3 3. A
U, 1,200 R B AW
il JRE. 200. T YEH E. 300

Commodities“A” and “B” are insured subject to Institute Cargo Clauses
(A) From the following data draw up a statement of claim for submission
 tounderwriters :- : '
20 bales commodity “A” invoice value CIF Rs.30,000
10 bales commodity “B” invoice value CIF Rs. 10,000
Insured for Rs.48,000 total sum insured subject to ICC (A)
Particulars of sea water damage are as under :-
1 bale “A” valueless and destroyed. : ‘
2 bales “A” made merchantable and delivered sound. Reconditioning
expense Rs.200. : ' : .
5 bales “A” sold in damaged condition. Sound value Rs.1,600 per bale.
Realised Rs.1,200 per bale. o
Sale charges Rs.200.
Survey fees Rs.300.

'mmmaﬁaﬁm#m%aﬂ“m_ﬁ'mwmm :
2 ot B 1 s e o O o S R
- I 2 R
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7. When General Average is declared, what is meant by. "contributory 12
- values"? Explain the basis on which the contributory values of ship, cargo
and freight are computed.

$ReeTE oA Fellos-ge 1.10. 1983%5?1'@*6 8 ooooowwm
¥ fore 9ifm 97 T W N W 260 R 3T T 2 R swR wm A
ménmémmﬁw#mﬁmméu
ﬁmﬁr@amﬁmﬁﬁ%
P k1
W
1,80,000
20,000
80,000
- . 40,000
- " 3,00,000

| o & R t’ﬁm%mﬁa‘zﬂ’ﬁw% A SevE i |
ﬁﬁammmﬁﬁmélmﬁ;ﬁa@ﬂm%m
aznamaﬁim

Vessel ‘A’ msurcd for Rs. 8,00,000 so valued, under Institute Time Clauses
- Hulls 1.10.1983, sinks and is a total loss after colliding with Vessel ‘B’
As a result of the collision, Vessel ‘B’ damages port mstallatlons. ,
Following losses occur : . ’
‘ Vessel ‘A’ : el _‘B’ '
Damage to the vessels - 8,00,000 1,80,000
Demurrage - 20,000
Crew injury 50,000 80,000
Cargo damage - E 40,000 -
Damage to port installation - - 3,00,000

- Vessel ‘A’ is held 70% to blame and vessel ‘B’ 30% to blame for the
collision. Neither vessel limits Ilabxhty State the claim under vessel A’

poliey.
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9. T e 6 4000 ARl i et et W 2,80,000 . 0. &1 (ST 12

1ﬁ.m.mﬁeh),iamga€ﬂﬁaﬁsﬂn§|3%m%&ﬂﬂmﬂ(ia

mu@)m“q”%mazo,oo,ooo%mmmwm

- 93.W,a\qﬁg§mﬁ(§ﬁ%m%m)mm%m
qﬁ,mmgwamsﬁ;.m. ,

S 10 g AR % w R 700 76 0. ) :

- 200 e aTeR R SRR e 3 9| T e v & T
qﬂtmﬁm{ﬁmm‘mmm%waﬁmﬂﬂi

T e W €. 500 |

R B TRH AT T AWK

4,000 bags basmati rice, comprising a total of 2,80,000 Kgs. grosé (with

tare of 1 Kg. per bag), railed from Mumbai to Delhi, were insured for

Rs.20,00,000 subject to Intand Transit (Rail or Road) - Clause ‘A’

- 93 bags, which arrived torn and short of contents (because of use of
‘hooks) weighed 6,045 Kgs. ~

- 10 sound bags weighed 700 Kgs. gross.

- 200bags arrived outwardly stained with contents caked and mildewed
on which a depreciation of 40% was allowed. L

Survey fees amounted to Rs.500. '

Work out the claim payable to the consignez.

5) FeA e AR S REE 43
§) FeiEHe S
) mmmm

. Write short notes on the following :

a) Customs Clearance Procedure

b) Classification Societies

¢)  Clearance Procedure - Road transit.
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ASSOCIATESHIP EXAMINATION
W 3He) ‘ [ 3% 100
Time: 3 Hours] . [Total Marks : 100
T ot woell s arere RN 1 o et 16 ke & Ry v bl Ty
- I RRTRAF U 12 sl H E) o
~ Answer EIGHT questions only. Question ONE carries 16 marks bat this is not

compulsory. All other questions canry 12 makseach. -
1. @mmmmmmmmmwwam 16

. What material facts are to.be evaluated whilst umbnmtmg a Cargo
insurance proposal? ,

2 %) fReege I T (o) § siv suefee <Mk v
I A o
) ,Mm‘mﬁw(mmﬁ)%%mzﬁmw%?

- - a) “State the risks covered and Exclusions wader the Institute Strikes
Clauses (Cargo). _
b) Whatisthe Duration of Cover under the Institute Strikes Clanses (Air
" Cargo). - '

SR CE LB LT —— - (X630
W) P, st o o S w5 S A vl @ i s
el W R A 3 e R

+ ) Explain the concept of Payment of Premissnin Matine Insurance: . 6 each
b) How Premium is accepted on marine: Policies covering Exports,
Imports and Shipments between countries outside India.
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@@wqﬁmﬁﬁmwaﬁ%ﬁMWWaﬁm 12
WrEme % fEE St TR v

Describe some basic precautions that Eprrters and Importers should take
against maritime fraud '

‘@@mmmﬂﬁ@mﬁm mﬁmmaﬂmmﬂ’r
= g w7 €7

What are the responsibilities, liabilities and fimits of monetary liability of
a Multimodal Transport Operatoﬁ

mmm%mmaﬁm ar—ﬁﬂkvramamnaar
mwmwmmmm

Write the important Provisions relating to Duration of Cover, Basis of
Rating and Premium payment under Builders’ Risks Insurance.

gmaatmw%?qmﬁmmﬁm%ﬁﬁmwm .
Rl % aiwta w0 @l € '

What are Sue and Labour charges? Briefly explain the liabilities for these 12
. charges under cargo and Hull Policies. : :

&) mmm%ﬁﬁ@mﬁmmwm (A 6 34%)
) A BRE REg Sy ¥ 7 3wa & el X

a) - Prcpare a draft declaration form for Cargo Insurance Cover. ~ 6each
b) Explain the Cover under Spec1a1 Storage Risk Insurance

mm@mﬁ@mmmammw%mm 12
Refy 3} i TRl 9 ovavaEdl e 87 |

Asan Insured what are your duties in thc eventofa Cargo claim and what 12
are the documents required in such an event?




10. sfgra Rwuft v -
F) WR-ART it
€) waifea Was dfy
T) WO e uiiend.

. Write short notes on ;
" a) Shut-out Cargo
b) Auto-Fac Treaty
¢) Agreed Value Policy.

¢ ausse m --.-‘v
=== THE END ----e
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ASSOCIATESHIP EXAMINATION. .
. AGRICULTURAL INSURANCE _
g 3Ee ) - ' . [Tt 3t : 100
ﬁme:3Hoqrs] _ L . [Total'Marks: 100 -
o o e &5 T R | e e 3 16 9 & e 7 Pt Tl & 1 |
saudftiremwa R ‘

Answer EIGHT questions only. Question ONE carries 16 marks bt_it ‘this is not

compulsory. All other questions carry 12 markseach. -
' . Marks

1 %) w2007 e ¥ e o R A T gR A A (T T 12
o1, ) 3 st Ao s &1 v o FrgeR 81
) T T & R e & st 2@
i) 3T #=0 U T ®.60,000 15,000
iii) o3 WS aui o sttew daar 2400 R 1800 e/

iv) YA gy L 9%0% 80%
'v) YT g e e e . 1200/ ®. 750/
(@l 2007 FR1Q) - i 100 R wfY 100 fm
vi) T SR %.75,000 ¥.30,000
i) FAT FTe W 2.5% 35%
vili) i (e AR R 6.5% 8.25%

SR b MR T3 210 R 3 7 ER o st R 3 T

k) : - "

it ¥ 30 % i g T Jead Wi

A farmer is insured under National Agricultﬁral ‘Insur'a:mcc scheme

(NAIS) during Kharif 2007 season, whose broad details are as follows:
Parameter : Rice Bajra

i) Area declared for availing Loan 5 Hectares 2 Hectares
ii) Loan amount availed Rs. 60,000 - Rs. 15000




: ) o AG-71
iii) Average yieldof insurance unit ~ 2400kg/ha  1800kgha
based on preceding 3.0r 5 years - :
iv) Applicable Indemnity limit S 90% 80%
'v) Minimum Sipport priceof ~~ ~ ~ Rs.1200/ - Rs.750/
Government (For kharif 2007) - .~ 100kg 100kg
.. vi). Sum Insured opted for Rs. 75,000 Rs. 30,000
..~ vii) Applicable Flat premium rate 2.5% 3.5%
 viii) Actuarial prermum rate 6.5%" - 825% -

Based on the above mformatron, calculate the premrum debrted by |
the lending bank to the farmer’s loan account. :

b) Write briefly about Agncultural Research Network in the country
e A 3 WY S g qui AR
Describe problems assocrated with insurance of crops

. fwfie: %#@r‘a?ﬂh%mﬁmﬁamﬁm'

Give Long forms of any six with a short descnpuon

) &l o AP

i) I F.d @ RKBY

fii) U9 TW.TW. AT  MSSRS

Civ) WWW T - NCCF

v W WTIR  ICAR

vip @l - SAO

vii) 9. . 3. @ PCIS

vig®. @@ Kee

F e S iRt & g Rrtwael < AR

Describe salient features of Agriculture pump-set insurance policy.

. Yol ity W it ¥ e - o . (R F439)
i) WmHAS : :

ii) e SiE S
iii) mm/amaﬂmm%mamﬁamﬁ

iv) S i ¥ yopE |
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Write briefly about any three of the following : . 4 each
i) Sericulture insurance . ' '
ii) Acquaculture insurance
iiiy Crops covered under Horticulture/plantation insurance policy.
iv) Major Reinsurers of Agriculture insurance.

§ mmm«%mwmmaﬂ“ﬁmu

Describe various generic methods of crop insurance pfemium rating. 12

30y Pt v TRl s s s g G AW (A6 )
) et i v el =t SR

a) Write names of six sections available under Kisan package policy. 6 each
b) Specify covers available under any three sections. :

) mmmwm&mﬁﬂm: (T % 4 37%)
) AT S YA o - -

iy vl srgaEH '

iii) < forar it WIg

iv) oTaRd T A AT

Discuss any three of the features of National Agricultural Insurance 4each
scheme (NAIS) : '
i) Farmers eligible for coverage.
ii) Seasonality discipline

iii) Limits of coverage.

iv) States and Areas covered.

) Waﬁm%mmﬁﬁmma&@ (O % 4 39)
L)) TR R 3 R o s gEs ST
%) ST iR & aow g Rl 3 W AR

a) Whatistheinsurance cover provided normally under Poultry Insurance. 4 each
b) List out any three exclusions under above policy. :
c) vMention Good features discount under above policy.




A . |
10. Wy s iferedt & sfta e s W ot AR
3) A vyl ¥ g :
) A T Ty S R

10. Explain claims procedure under Cattle Insurance Policy:
a) For non-scheme animals.
b) :For scheme animals.
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~ Time: 3 Hours] 4 [Total Marks : 100

1.
' %,@ﬁ‘mﬁaﬁ%wﬁmaﬁmﬁmﬁsﬂqkalﬁélﬁﬁ

gt AGT2

ASSOCIATESHIP EXAMINATION
| MOTOR INSURANCE
‘ (&t 3t : 100

R oS TER & T AR | TR W K 16 afe § forg g Pt T £
. sl w12 R €
Answer EIGHT questions only. Question ONE carries 16 marks but this is not
_compulsory. All other questions carry 12 marks each.

: _ . Mark:
el ot el e e e e 5 50% A S0 16

@mm%mﬁmmﬂmﬁaﬁ%mmmm
Iam? | ' E

. Motor Insurance is contributing around 50% of the premium income in
any insurance company as also motor claims outgo is on the increase. As
aclaim Manager, what steps you would take to bring the claim ratio under
control? ' v ' '

(T & 3 ¥iF)

e 2R g e & s v g ) A R A R

¢ frwfrt Sl

%) T o 7 9 AR ¥ R, I TR A I R I R
mmémmmaﬁmﬁma@g,mﬁmﬁﬁnaa
Ay v T i R T : .

) mm%,ﬂﬁm%m@mwﬁmm@m,sﬁ
o5 g gom o - X

) s St e i o 8 @, e afeefa v W,
w,mmwmﬁﬁ%@mmwmmr%lm%
mm%mmﬂﬂﬁWﬁﬁm%mﬁh
i . ,
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) @mmmmmmmma
% I T B o | e SO fve & o e g
ol ) 95 W TER & forg swge am) L

- Give comments on the liability of the insurance company, giving reasons 3 each

*. and quoting conditions under the policy.

a) A person in order to board a bus wanted to place his luggage on the’
"~ top. However while climbing on the Iadder fixed to the bus, the ladder

gave way. He fell down and died. Co
The owner of goods traveling in a goods vehicle along with his goods,
met with an accident. o
Liability only policy issued having premium for T.P., Owner Driver,
Driver and four passengers. The vehicle met with an accident resulting
-into death of owner Driver who was sitting beside the driver.
‘Commercial Vehicle met with an accident, fitness certificate of which
had expired one month before the accident. Surveyor has certified
that the vehicle was road worthy on the date of accident. :

- R T i e o TR o e A AR S 12
Elaborate the methods of C.TL Settlement and Cash Loss Settlerient. 1

.'mmmmmamm: | (w6 )
) AR F IR : o . :
q) AR T R ' '

Expiain the ‘ru'les' genérally followed regardin'g‘: | _ | 6 e@h
~a) Transfer of Vehicle . :
b) Change of Vehicle.

Wﬁﬁﬁamm%mmﬁmmﬁmmn |
e 4 & 3K okt 3 A Reamsg svoer & v &2 Rram @
fofaw _ . : .

List out the various discounts‘av;ailable presently under Motor Vehicle

Insurance. Which further discounts can be made available in the de-tariff
regime? Write in detail. .




o 3
. mmmmm(&-ﬁmm
ar) it Pt el A S
7)) iR ERE)
9 T
) yEERw

Write short notes on any three :- :
Body Builders' / Repairers’ cover
Limitations as to use (Private Car)
Endorsements ,
Area of operation

R - , (7 & 6 3i%)

. #@) ﬁag&amaﬁﬁmﬁ%m%mﬁwmmﬁ :

L)) m-ﬁuwﬁ%Miﬁagﬁmmmﬁmﬂ »
wa o R

" a) Which defenses are available o rebut allegations of negligence, in 6 each

Motor Third Party Claims? . o co
~ b) Write in brief the role of Motor Accidents claims tribunals in
settlement of Motor T.P. Claims. - 4

@mﬁmﬂgmmmmuﬁaﬁi‘?

What aré.'the particulars generally asked for, in a Motor proposal form
used for covering private cars considering prudent underwriting norms?
QWWM%@@&%MMEM«@
T - o .

Discuss' cbverage and exclusions under own damage- section of Two
Wheeler Package Policy.
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2. @Wmmﬁﬁsﬂ%aﬁhﬁ%ﬁaﬂﬁﬁw,mﬂ@aﬁm 12
mwwq&r#mwuwgnﬁrwmmiﬁmaﬁw@
waﬁqﬁl@aﬁamﬁﬁm%#mﬁml
i) e - 3R 2005 A ' :
i) T B R - w
3Tet TR (i 81f) X 2 S 20,000
TR , 5,000
W (35 R i) | . 7,000
Rediemm : - 12,000
T fy - 28,000.
EEURCE o 17,000
AR - 6,000
I W1 1 2y o 25,000
s o o 3,000
AR S sty & \ 5,000

. A goods carrying vehicle insured undera package policy dashes againsta 12
tree on a private road of a factory. The tree falls down and the vehicle gets
badly damaged. Calculate the claim with following particulars. -
i) Model - October 2005 '
i) Vehicle Damage :- Rs. )
Front Tyres (Total Loss) x 2 ’ - 20,000 -

Bumper 5,000
Painting (Damaged Portion) : A 7,000
Wind shield Glass 12,000
Cabin Damage - 28,000
Labour Charges . 17,000
Towing Charges . - 6,000
Claim by tree owners 25,000
Salvage : - 3,000
Assume - compulsory excess ‘ 5,000
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- ASSOCIATESHIP EXAMINATION
PERSONAL ACCIDENT, SICKNESS & MISCELLANEOUS .
INSURANCE _
w3 U] '_ [t 3t 0 100
" Time: 3 Hours) ’ ' [Total Marks : 100
Rt 313 WAt 5 T AR | W W K 16 st & g o wfrad T 1
3wt e v 12 AW HE

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
mpulsory. All other questions carry 12 marks each.

CO!

: Marks
1. ¥) mlmﬁmmﬁ#wﬁs r12
%) mmm#ﬁﬂwﬁaﬁm%? '

. a) Enumerate the exclusions which apply to a Mediclaim policy.
b) What are the features of a Domiciliary Hospitalization covers

. ¥) a.l,so,ommnqu%gmmm%mﬁm
! g AT _ ' ,
) mmm%mm~mmm«ma
e Sy 2R 87 3w Ao ST

a) Draw outabenefit chart, assuming the sum Insured to be Rs. 1,50,000
in respect of a personal Accident Pelicy. :

b) Which are the two additional benefits available under personal
accident Insurance for which extra price is collected? Describe the
same briefly. ‘

3) mmmsmnwmmam

HR '

2) e e s et Rl e
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a)  Listout the factors which are deemed as impo;tant while underwriting 8

amoney insurance proposal. :
b) Which extensions are available under the above policy? 4

TE S Wit T e g Rt Ry L 12

Write a detailed note on Househdlders Insurance Policy. ' 12

ﬂmmsﬂéﬁmﬁﬁwﬁ%aﬁﬁml .
3) ﬁémmﬁaﬁlﬁ;ﬁ%ﬁﬁwﬁaﬁuﬁﬁa@mmﬁaﬁﬂ
E3IE o :

a) - What is covered under loss of checked baggage section of Videsh 6 each
Yatra Mitra Policy and also state the contents of specific conditions
attached to it?

b) Describe some of the general conditions applicable to all sections of
Videsh Yatra Mitra Policy. o

%) Sl A e  sfwta . o, 21, v w2 (0% 36 3%)
3) mmm%mﬂmm%mmm
Ruamd? |

a) What is CFT endorsement under the Overseas Mediclaitﬁ Policy? = 6each
b) What is.the cover provided under the loss of Passport section of the-
Overseas Mediclaim Policy?

ot s o e A R e Al 12

Which factors are considered while underwriting a Burglary business 12
premises risk? : :

O ' (5% % 6 37%)
. &) ﬁ%mmm%%ﬁéﬁaﬁm%mmﬁmm

N
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%) Frw aTeRewsd 4

) foredi (97) ga A

© g) ¥R He A

3) iR A N

Write short notes on any three of the following:
a) Plate Glass Insurance.

b) - Special Contingency Insurance.

¢) Student Safety Insurance:

d) . Tertiary Care Insurance.

¢)  Duplicate key clause.

) mmmiﬂm%mmm%mml
9) ﬁmmmmaﬁwmmmmmam
S 1 ' FR

- a) State the types of policies available under commércial Fidelity
Guarantee Insurance. :

b) What action an insurer takes after settlement of a fidelity guarantee
claim? . . .

e A ety g s A

. Mention some of the impo t exclusions of BanKers Blanket Insurance -
Policy. ' :
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ASSOCIATESHIP EXAMINATION
LIABILITY INSURANCE
a3 Ee] : [T 31 2 100
Time: 3 Hours] , [Total Marks : 100
Tl 211 Wil & T T | wew v 3 16 3fes € g arg arfvard i 4
= uelt v v 12 AwmH T

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

. Mark
. A Ry drsei iR S e AT ARm 12'

1. Processing of Liability Claims is done in three phases. Describe these 16
phases.

e pe— k2 d)

) e i
"§) S e
) 3T H IRE
]) AR

q) U

V) fauiy afed

.. What is the meaning of :
a) Punitive damages _
b) Structured Settlement
" ¢) . Onus of Proof
d) Negligence
~e) Nuisance
- f) Special Damages? ,
: (B F 6 3F)
3) it SRl ¥ W S i % B: STEel @ (J8 A
T SR F BisH) Ieag HRT
¥) YT G b HRUT R
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a) Mention six exclusions (other than war and nuclear risks) of public 6 each
liability policy for industrial risks. )
b) Give reasons for each exclusion.
| (ReE6a)

e S e P 1991 ﬁﬁmﬁmﬁmmw%"
&) ud
) e

What are the provisions in Public Liability Insurance Act, 1991 relating 6 each
to: . '

a) No-Fault liability

b) Compulsory insurance ?

(T & 6 3F)
ﬁxaﬁa}mm@mﬁmﬁﬁﬁawwn@mm _
FR !

q@ﬁwﬁammﬁmm@aﬂmn

Mention six general questions in a proposal form for non-mdustnal 6 each
risks.
Mention six questions relating to schools.

mgmm%mmmaaaafm. |
TR & sifa U & argaell it =t S e rfaRaq P W
Gy fona ST T 8

Describe the cover under workmen’s compensation policy.
Mention the two exclusions under the policy which can be covered
at extra premium,

&) S e “aif-anfRr <ifty e 5 i e o 87 (R 3 6 37)
39 Y 3 yenfer i 1 ol quEsu|

)

~ Why is ‘Excess of Loss’ treaty'insurance used for liability insurance? 6 each
Explain how this treaty operates. :




8. wﬁmmﬂﬁmm% mqmﬁaﬁﬁmhﬁ-rﬁqq:

8. Wnte a detailed note on The Consumer Protectnn Act, 1986
9. mmmmﬁm@mﬁﬁﬁmaﬁmu

9. Describe in detail exclusions which are specific to Products Liability
Insurance Policy. -

10. A SR gt . fer., aon, ﬁﬁqﬁrﬁaamm:r@aaﬁé
- iR i o - T E 30w } g 1:3
: - TS ® 90 aE
’ maﬁms - n@wﬁﬁnaﬁmmmﬁﬁn
ol g e - F 2505
b Gk = 037% (RER)

qa}qﬁm(ta 30m)%%qwmsﬂmé
HZh
g dm s s omas = 2
HY AT E 0 wET = 95

i) 9 & R = 25
if)  ZHAR R & shifrm . 91 ,800 & 120%
i) mwaﬁﬁaaégmﬂﬁwwso% |

ﬁ@m@m%mmﬁmaﬁm'

10. MJs. Sunflower manufacturing private Limited, Thane, has submitted the
following information. ' :
Limit of Liability required AOA Rs. 30 acs. }

: AOY Rs. 90 lacs.
Number of units 5 Wants to cover Pollution Extension
Turnover of all Units Rs. 250 crores
Basic Rate . 0.37%o (per mille)

Ratio 1:3




4
The Multiplier factor for AOA Limit (Rs. 30 lacs) is as under :-
. Factor -
Up to Indemnity Limit Rs.25Lacs =26
Up to Indemnity Limit Rs. 30 Lacs = 25

) Multiplier for multiple unit = 2.5
iiy Tumover Extrais 120% of premium Rs. 91,800.
iji) Pollution extra is 30% of Total Premium.

Calculate the premium for industrial risk.

AG T4
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- ASSQCIATESHIP EXAMINATION

. . ENGINEERING INSURANCE -
Y : 362 ) : | [F13i%: 100
| Time: 3 Hours] . ' ‘ o [Total Marks : 100

ﬁr—ﬁmm‘r%r«waﬁmmm%wm%mwwwtn

mwmmlzmés%‘u

Answar EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each,

) MMWW%WWWWW
: %mﬂ%wmﬁﬁm
) T IR S siml aRe e 3 e s R
1#) T UieRlt % il B: e @ SeoE AT

a) vae Four examples of types of civil engineering projects covered
under contractors All Risk Policy.

b)  Give Six examples of losses indemnifiable under this policy.

¢) Mention Six exclusions under this policy.

mmm%qﬁﬁ:
3) i eor & 7 =t wpw arvaeh % W iR |
7) wﬁmwwm%m%m%mﬁmﬁmu .

With reference to a Machinery Insurance Policy :
a) Describe the scope of cover with major exclusions and
b) Explain thc basis of settlement of partial and total loss claims.

) wwhuwm%mﬁammm#m'
Fa Fifdre

3) maﬁmﬁsmﬁmﬂmmmmﬁtﬁmﬁvﬁa
@mmév -




, 2 AG-TT -
a) Outline the cover under Boiler and Pressure Plant Policy. -4
b) Explain to what extent the policy covers chemical explosions and 8

physical explosions. : g A

A, @mmﬁmmm@maﬂhmwmm% 12V
Wﬁwmn

Elaborate on the stages involved in Risk Management and State importance 12
of each stage. '

(mémm)
mﬁﬁm&mﬁmmwmmwmm%

THR 1 Fe0E NG
i witafew o R W
i) FSHERT

i) diife S

 qy) SeemE @

Name the types of Plant and Machinery commonly found in any tﬁme of 4each

the following :-

i) Combined Cycle Power Plant
ii) Paper Factory.

iii) Cement Factory

iv) - Textile Mill

@aﬁmﬁw%@mm Wwaﬁmmmwaaﬁaﬁ.
mm@m@ﬁﬁmmm%ma@wmm
.mﬁ”%mﬂﬁ%ﬂaﬂml :

Enumerate the benefits of “Slte Monitoring™ for a insurer who has issued
a construction insurance policy for a large project covering Property
Damage, Third Party liability and Advance loss of Profits.

(m%sm)
%) mwmam%mmmmmg@

oS M F i R AW
q) w%ﬂgmmﬁmwﬁmm%m%qﬁm
ﬁtaﬁfwm%’
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. Give four examples of types of machinery normally acceptable as 6each

good risks for machinery insurance,

- Give reasons why process plant are considered to be unsatisfactory ;

from machinery insurance angle.

9 A Rt (5% 4 ot

M%M'mﬁmﬁmﬁaﬂm’l_
wﬂm%gshmamﬁswmmﬁﬁm_' |

What is the 6bject of Advance Loss of P;ofit Policy? S 4 cach .

- Define “Indemnity Period” under the policy,
¢)  Give four examples of risk categories for this insurance,

5 T (58 o) SR a2

fFar smr d? . o
m%mm%mﬁmmmmm%

“..gﬁmsﬁﬁwﬁml N

b)

How is sum insured fixed under Deterioration of Stocks (other than
potatoes) policy? . : S
Explain the basis of indemnification under the policy and mention

- the issues in claims processing, :

. %wmvafzawmm%atﬁmammwmﬁéama |
oot ferfe) ' o

- Write a critical note on rating and uncierwriting of Contractors Plant and

Machinery Insurance,

ceven m "wase
sessse END sesven
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ASSOCIATESHIP EXAMINATION
. MISCELLANEOUS INSURANCE
w3 ) - [Eeraie : 100
Time: 3 Hours) : [Total Marks : 100
frft 31T Tyl 36 SR ARNT | T U 16 st § forrg e vt T €
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Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.
. Marks
() SR e A & S U E 2,00,000 N TRETEHE T 8
QR TR B
3) mmmmmammmmm
Iy, T8 W i
) R—Wﬁmmmﬁm%mmmm&
AT I ,

a) Draft a benefit chart for personal Accident insurance assuming the
sum insured to be Rs. 2,00,000/-. .

b) Which are the free additional benefits available under the individual
personal accident insurance? Briefly describe the same. )

¢) What is the main criterion for classification of risks in personal

accident insurance for the purpose rating? Also, explain why the same
is chosen?

Mmaﬁmmﬁqﬁrﬂaﬂ%m@ﬁ@ﬁzmn
P RS ' -

i) &moRra Pl

iii) g7 S

iv) iftrest = TR
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Write a detailed note on Burglary First Loss Insurance including the. 12
following aspects.
1) - Type of property
ii)  Fixing of sum insured
iii)  Underinsurance
iv) Premium computation,

) mﬁh@%dﬁm:m@amaﬁaﬁqﬁwaﬂﬁm
) IR ViRl F sl 9 R sver 87 '

5) List out the exclusions which are generally incorporated in a'money
policy. . (
b) Which are the extensions available under the above policy?

Mmmmmmmﬁmﬁmwaa
== Hify

Describe the various conditions incorporated in Mediclaim policy for
compliance of an insured person.

- ) FfoRen i S5 afgi ¥ gad § we 5
) EdmR |
i) RFdmafr
i) <fter e e
iv) 311&!327 ,
T/ ARG S e i TR F o B: s
%1 <ita S

In respect of Bankers Blanket Indemnity insurance, explain the
following :
i)  Basic sum insured )
i) Additional Sum insured
iii) Reinstatement of sum insured.
..~ iv) Excess
Specify any six exclusions under the Jewelers Block Policy except
War/nuclear risks. '




3

P § § fel i W e feorfdwt faRee :
) dfswm i § Ao '
) 6. . A yeEA '
%) - P T S

T) Ea-gE A

7) AR (R i) A

Write short notes on any three of the following :-
a) Bonus/Malus concept in Mediclaim Insurance
b) C.ET.endorsement

Agricultural pump-set insurance

Sports insurance

Sericulture Insurance.

%ﬁmmﬁ'w,mmmmmn 12

Briefly describe the insurance coverage, exclusions and special features 12
of Sheep and Goat Insurance.

' - (7SI % 6 37%)
) g A e e B e @ity 3 sy ek & R

SRR W T A I 1 e R |
%) o ot e e v e e 3 R e A 21

" a) State the questions which are usually asked in Fidelity Guarantee 6 each
Claim form to elicit information on a reported loss. o

b) How an insurance company proceed on receipt of duly completed
claim form. :

' (w4 3)
) @mmmmmq@ammﬁ%mg&m
3 e S 1 2 T 9 ©: W Wyt s § AR
§mé|@§m%w5%mmﬁ%|m&m
. 2,00,000 F1 utn 38R 20% Wt A7 | A ARG IR
T T '
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) T Hewidr e o e . 50,00,000 % R 0 v 1 5wy
T E. 50,000 o 9Ra g &1 @y v e e 3
T €. 40,00,000 wr 7 1 2R A Rt v 3 @)
%) T o Rl St <t o & R o e . 20,00,000 2
T S affs SfEE w. 2.5 5% 41w R w. 25,00,000
maﬁﬁmmm%mmmﬁnﬂzm
ST 0 45 Frarelt 7 | v w o 7 & i e e
et uftn 22 8ht o o 3w we

A personal accident policy has been issued includin g the weekly
benefit cover. The insured was involved in an accident breaking his
leg. He was totally disabled for six weeks. Same accident has caused
him Permanent disablement of 5% also. The sum insured under the -
policy is Rs. 2,00,000 and the cumulative bonus there under is 20%
calculate the amount of claim payable:

A Burglary policy has been issued for a sum insured of Rs. 50,00,000.
A loss occurs there under for Rs. 50,000, At the time of loss however
the value of property at risk was found out to be Rs. 40,00,000. What
is the amount of claim payable?

A money policy is issued with a per carrying limit of Rs. 20,00,000
and the estimated annual carryings Rs. 2.5 crores. One day an amount
of Rs. 25,00,000 was in transit to the Insured’s office, carried in 2
bags containing equal amount. The said cash was withdrawn from
the Bank due to some urgent need. Unfortunately one bag was lostin
a hold-up. What is the amount of claim payable? Also, provide the
reasons for your answer. : :

10. ¥ = diwr 3 @ ot 8 i R

10. Mention importan( exclusions of Bankers Blanket Insur_ance.

euene TG =omee




ASSOCIATESHIP EXAMINATION :
LIABILITY AND ENGINEERING INSURANCE
3] , (e 3% © 100
Time: 3 Hours] [Total Marks : 100

. i e WA SR RT | e T S 16 m%hﬁﬁaﬁmﬁqﬁ%u
Fmad TEw T 2w R EL
* Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory All other questions carry 12 marks each.
Marks
(AT F8 3i%)
. ¥ aﬂ@maﬁmammmm% awiammasﬁt
(g A e SR B i) H Ied T |
3) mmwmmmmmmmmmm

T A T T A

. a) Mention Eiglit exclusions (other than war and nuclear risks) under 8 each
' the Public Liability Insuraace Policy for Industrial Risks.
b) -Give an outline of cover provided by a contractor’s Plant and
Machinery [nsurance Policy.

(FAF H6 3F)
. &) mmmma;"mm'mmmmm
g &t == AR
q) W i ¥ afwmia “aEl # gEr Faitst Brg SR gyl &
wﬁamﬁ%”

i) Describe the cover provided by “Indemnity Clause” of Product 6each
_ Liability Insurance Policy.
n) How docs “Claims Series” clause affect indemnity under this pohcy"

. A mmm@mmmmmwm

# Wl vl # ST R
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. a) Mention the important items of general information elicited in a 8

proposal form for non-industrial risks. ' ’
b) What specific information is elicited in a proposal form for cinemas, .4

- ‘ . . - (Rs¥2em)
: Wmﬁmmm%mﬁmw-waﬁw
IR

i) wlh gl i) gfogft sy
i) WA jy) e
V) TR HEER i) e fwreh wed R aeit

Explain the following terms in respect of a Machinery Loss of Profits 2 each
Insurance Policy:- :

i) Material Damage Proviso

i) - Indemnity Period

iii) Time Exclusion

iv) Tumover

V) Supplier’s Extension

vi) Failure of Public Electric Supply Extension.

mﬁawmmwmz | (T ¥ 6 3im) -
) mmmwmm%mmeﬂ. '
7). Mm%ww%mﬁﬁmmm
W) Wi v TR S T sy

Write brief n'otes on any two of the following ; Geach: -

a)  Scope of cover under Boiler & Pressure Plant Insurance Policy. .
b) Engineering Insurance Policies for Operational Phase of a project.
¢) MajorExclusions of Machinery Insurance Policy.

) mgmm_aammwwﬁmm
3T |- ,
) T iRl & sfi e % a7 AR sve 8

a) Mention the important features of the Indemnity Clause of Workmen’s
Compensation Pol icy.
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b) What extensions of cover are available under this policy? 4

(TRABH6IF)
) mﬁaﬁ@mmmﬁr@aﬁaﬁmqﬁwwm

g HNT |
) wm%mammmw@

a) Mention six important questions in a Erection All Risks proposal 6 each
form.
b) Whatarethe special aspects of underwriting relating to this policy?

eﬁwm(mﬁm)ﬁaﬁaﬁmm@%@%gmm
ﬁmmmm%‘mﬁmaﬁmmamﬁm
el W A

“In view of highloss potential, acceptance of Deterioration of Stock (other

than potatoes) i done with utmost care.” Discuss the considerations which
arise before acceptance of this risk.

 w) spm A e dm :
%) mm%mmmmmﬁmm@

. -a) Whatis Advance Loss of Profits Insurance?
b) How isthe Sum insured fixed under this policy?

.mﬁawmmmmm;
D AR ’ :

i) e Rt

iif) SEE TN

i) SR TR

. Write short notes on any three of the following :
i) Onusof Proof _

ii) General Damages

iii) Punitive Damages

iv) Structured Settiement.

anies TUTE aeene
eoanes END seceee




Dr. Balances Rs.| Cr. Balances
Wages ' 8,600| Sundry Creditors
Fuel & Power © 3,500 Misc. Income
Commission . 6,000 Bank Overdraft
Motor Car" , 92,500 Commission
Insurance 3,800{ Bills Payable
Goodwill 45,000 Outstanding Wages
Debtors ) '

Cash on hand

.Stock- Opening

Suspense Alc.

Salaries

Royaities

Tel. Charges

Printing & Stationery

- Investment

. Fumiture
Discount
Drawings
Prepaid Rent

Total :-

Adjustments ;-
(i)  Closing Stock valued at
ii) Outstanding Expenses :
Salaries ]
Telephone charges
iii) Frovide Depreciation :
Plant & Machinery
Land & Building
iv) Provide for Bad debts - ,
v) Insurance is paid up to 30.06.2009 . .
vi) Closing Stock of Stationery is valued at Rs. 250
A e R e
wwwese END i




